° g o, oy

A Family and Employee Owned Company

Kit Installation Instructions 13590008

Grinder Stand

for Ordinary and Hazardous Location Omnivore® models

(X)LSG and (X)LSGX-Series
(X)LGVO02 and (X)LGHO2-Series

Kit #K002012 Contents 1. Remove two screws from the grinder cutter
plate.
* (4) Set Screws Single-stage grinders will have socket head

« (4) Stand Base Bushings cap screws with a 3/16” Allen wrench drive.

(

.« 2 2-stage grinders will have hex head cap
 (4) Socket Head Cap Screws (7/8” length)
* (4

Omnivore Wire Stands screws with an 11 mm drive head.

(4) Socket Head Cap Screws (1-1/8” length)

Note: Two sets of fasteners are included in the
kit, but only one set will be used.

> Shorter screws (7/8” length) are for use with
single-stage pumps

> Longer screws (1-1/8” length) are for use with
2-stage pumps.

Copyright © Liberty Pumps, Inc. 2023  All rights reserved. 7000 Apple Tree Avenue Bergen, NY 14416 1-800-543-2550 www.LibertyPumps.com



2. Install two bushings with the supplied socket 3. Slip the wire stand into both bushings,
head cap screws (3/16” drive).

ensuring it is completely seated in the
bushing.

Install the supplied set screws in the tapped
holes with a 3/32” Allen wrench.

Note: When tightening the screw, ensure that
the set screw hole is facing away from the h h ite side of th
pump centerline. 4. Eﬁﬁgtt ese steps on the opposite side of the

2 |EN Copyright © Liberty Pumps, Inc. 2023  All rights reserved. 1359000B



